
Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 1 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 119 dư2

2. 149 dư2

3. 45 dư6

4. 129

5. 87 dư3

6. 46

Giải các câu hỏi.

1) 9 5 4 : 8 = 1 1 9 dư 2
- 8

1 5
- 8

7 4
- 7 2

2

2) 7 4 7 : 5 = 1 4 9 dư 2
- 5

2 4
- 2 0

4 7
- 4 5

2

3) 3 6 6 : 8 = 0 4 5 dư 6
- 0

3 6
- 3 2

4 6
- 4 0

6

4) 6 4 5 : 5 = 1 2 9
- 5

1 4
- 1 0

4 5
- 4 5

0

5) 6 9 9 : 8 = 0 8 7 dư 3
- 0

6 9
- 6 4

5 9
- 5 6

3

6) 2 3 0 : 5 = 0 4 6
- 0

2 3
- 2 0

3 0
- 3 0

0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 1

Câu  trả  lờ i

1. 119 dư2

2. 149 dư2

3. 45 dư6

4. 129

5. 87 dư3

6. 46

Giải các câu hỏi.

1) 9 5 4 : 8 = 1 1 9 dư 2
- 8

1 5
- 8

7 4
- 7 2

2

2) 7 4 7 : 5 = 1 4 9 dư 2
- 5

2 4
- 2 0

4 7
- 4 5

2

3) 3 6 6 : 8 = 0 4 5 dư 6
- 0

3 6
- 3 2

4 6
- 4 0

6

4) 6 4 5 : 5 = 1 2 9
- 5

1 4
- 1 0

4 5
- 4 5

0

5) 6 9 9 : 8 = 0 8 7 dư 3
- 0

6 9
- 6 4

5 9
- 5 6

3

6) 2 3 0 : 5 = 0 4 6
- 0

2 3
- 2 0

3 0
- 3 0

0

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 2 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 83 dư7

2. 293

3. 120 dư6

4. 422 dư1

5. 40 dư3

6. 177

Giải các câu hỏi.

1) 7 5 4 : 9 = 0 8 3 dư 7
- 0

7 5
- 7 2

3 4
- 2 7

7

2) 8 7 9 : 3 = 2 9 3
- 6

2 7
- 2 7

0 9
- 9

0

3) 8 4 6 : 7 = 1 2 0 dư 6
- 7

1 4
- 1 4

0 6
- 0

6

4) 8 4 5 : 2 = 4 2 2 dư 1
- 8

0 4
- 4

0 5
- 4

1

5) 2 4 3 : 6 = 0 4 0 dư 3
- 0

2 4
- 2 4

0 3
- 0

3

6) 5 3 1 : 3 = 1 7 7
- 3

2 3
- 2 1

2 1
- 2 1

0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp
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Câu  trả  lờ i

1. 83 dư7

2. 293

3. 120 dư6

4. 422 dư1

5. 40 dư3

6. 177

Giải các câu hỏi.

1) 7 5 4 : 9 = 0 8 3 dư 7
- 0

7 5
- 7 2

3 4
- 2 7

7

2) 8 7 9 : 3 = 2 9 3
- 6

2 7
- 2 7

0 9
- 9

0

3) 8 4 6 : 7 = 1 2 0 dư 6
- 7

1 4
- 1 4

0 6
- 0

6

4) 8 4 5 : 2 = 4 2 2 dư 1
- 8

0 4
- 4

0 5
- 4

1

5) 2 4 3 : 6 = 0 4 0 dư 3
- 0

2 4
- 2 4

0 3
- 0

3

6) 5 3 1 : 3 = 1 7 7
- 3

2 3
- 2 1

2 1
- 2 1

0

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 3 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 56 dư3

2. 216

3. 66

4. 147

5. 53

6. 116 dư6

Giải các câu hỏi.

1) 2 8 3 : 5 = 0 5 6 dư 3
- 0

2 8
- 2 5

3 3
- 3 0

3

2) 4 3 2 : 2 = 2 1 6
- 4

0 3
- 2

1 2
- 1 2

0

3) 5 9 4 : 9 = 0 6 6
- 0

5 9
- 5 4

5 4
- 5 4

0

4) 2 9 4 : 2 = 1 4 7
- 2

0 9
- 8

1 4
- 1 4

0

5) 3 1 8 : 6 = 0 5 3
- 0

3 1
- 3 0

1 8
- 1 8

0

6) 9 3 4 : 8 = 1 1 6 dư 6
- 8

1 3
- 8

5 4
- 4 8

6



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp
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Câu  trả  lờ i

1. 56 dư3

2. 216

3. 66

4. 147

5. 53

6. 116 dư6

Giải các câu hỏi.

1) 2 8 3 : 5 = 0 5 6 dư 3
- 0

2 8
- 2 5

3 3
- 3 0

3

2) 4 3 2 : 2 = 2 1 6
- 4

0 3
- 2

1 2
- 1 2

0

3) 5 9 4 : 9 = 0 6 6
- 0

5 9
- 5 4

5 4
- 5 4

0

4) 2 9 4 : 2 = 1 4 7
- 2

0 9
- 8

1 4
- 1 4

0

5) 3 1 8 : 6 = 0 5 3
- 0

3 1
- 3 0

1 8
- 1 8

0

6) 9 3 4 : 8 = 1 1 6 dư 6
- 8

1 3
- 8

5 4
- 4 8

6

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 4 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 53 dư2

2. 288 dư1

3. 152

4. 21

5. 188

6. 14

Giải các câu hỏi.

1) 4 2 6 : 8 = 0 5 3 dư 2
- 0

4 2
- 4 0

2 6
- 2 4

2

2) 8 6 5 : 3 = 2 8 8 dư 1
- 6

2 6
- 2 4

2 5
- 2 4

1

3) 6 0 8 : 4 = 1 5 2
- 4

2 0
- 2 0

0 8
- 8

0

4) 1 8 9 : 9 = 0 2 1
- 0

1 8
- 1 8

0 9
- 9

0

5) 7 5 2 : 4 = 1 8 8
- 4

3 5
- 3 2

3 2
- 3 2

0

6) 1 1 2 : 8 = 0 1 4
- 0

1 1
- 8

3 2
- 3 2

0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp
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Câu  trả  lờ i

1. 53 dư2

2. 288 dư1

3. 152

4. 21

5. 188

6. 14

Giải các câu hỏi.

1) 4 2 6 : 8 = 0 5 3 dư 2
- 0

4 2
- 4 0

2 6
- 2 4

2

2) 8 6 5 : 3 = 2 8 8 dư 1
- 6

2 6
- 2 4

2 5
- 2 4

1

3) 6 0 8 : 4 = 1 5 2
- 4

2 0
- 2 0

0 8
- 8

0

4) 1 8 9 : 9 = 0 2 1
- 0

1 8
- 1 8

0 9
- 9

0

5) 7 5 2 : 4 = 1 8 8
- 4

3 5
- 3 2

3 2
- 3 2

0

6) 1 1 2 : 8 = 0 1 4
- 0

1 1
- 8

3 2
- 3 2

0

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 5 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 29 dư1

2. 94 dư2

3. 104

4. 56

5. 390 dư1

6. 154 dư2

Giải các câu hỏi.

1) 2 6 2 : 9 = 0 2 9 dư 1
- 0

2 6
- 1 8

8 2
- 8 1

1

2) 2 8 4 : 3 = 0 9 4 dư 2
- 0

2 8
- 2 7

1 4
- 1 2

2

3) 9 3 6 : 9 = 1 0 4
- 9

0 3
- 0

3 6
- 3 6

0

4) 3 9 2 : 7 = 0 5 6
- 0

3 9
- 3 5

4 2
- 4 2

0

5) 7 8 1 : 2 = 3 9 0 dư 1
- 6

1 8
- 1 8

0 1
- 0

1

6) 7 7 2 : 5 = 1 5 4 dư 2
- 5

2 7
- 2 5

2 2
- 2 0

2



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 5

Câu  trả  lờ i

1. 29 dư1

2. 94 dư2

3. 104

4. 56

5. 390 dư1

6. 154 dư2

Giải các câu hỏi.

1) 2 6 2 : 9 = 0 2 9 dư 1
- 0

2 6
- 1 8

8 2
- 8 1

1

2) 2 8 4 : 3 = 0 9 4 dư 2
- 0

2 8
- 2 7

1 4
- 1 2

2

3) 9 3 6 : 9 = 1 0 4
- 9

0 3
- 0

3 6
- 3 6

0

4) 3 9 2 : 7 = 0 5 6
- 0

3 9
- 3 5

4 2
- 4 2

0

5) 7 8 1 : 2 = 3 9 0 dư 1
- 6

1 8
- 1 8

0 1
- 0

1

6) 7 7 2 : 5 = 1 5 4 dư 2
- 5

2 7
- 2 5

2 2
- 2 0

2

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 6 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 99 dư1

2. 162 dư1

3. 106 dư1

4. 45

5. 91 dư1

6. 72

Giải các câu hỏi.

1) 5 9 5 : 6 = 0 9 9 dư 1
- 0

5 9
- 5 4

5 5
- 5 4

1

2) 9 7 3 : 6 = 1 6 2 dư 1
- 6

3 7
- 3 6

1 3
- 1 2

1

3) 7 4 3 : 7 = 1 0 6 dư 1
- 7

0 4
- 0

4 3
- 4 2

1

4) 1 3 5 : 3 = 0 4 5
- 0

1 3
- 1 2

1 5
- 1 5

0

5) 2 7 4 : 3 = 0 9 1 dư 1
- 0

2 7
- 2 7

0 4
- 3

1

6) 1 4 4 : 2 = 0 7 2
- 0

1 4
- 1 4

0 4
- 4

0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 6

Câu  trả  lờ i

1. 99 dư1

2. 162 dư1

3. 106 dư1

4. 45

5. 91 dư1

6. 72

Giải các câu hỏi.

1) 5 9 5 : 6 = 0 9 9 dư 1
- 0

5 9
- 5 4

5 5
- 5 4

1

2) 9 7 3 : 6 = 1 6 2 dư 1
- 6

3 7
- 3 6

1 3
- 1 2

1

3) 7 4 3 : 7 = 1 0 6 dư 1
- 7

0 4
- 0

4 3
- 4 2

1

4) 1 3 5 : 3 = 0 4 5
- 0

1 3
- 1 2

1 5
- 1 5

0

5) 2 7 4 : 3 = 0 9 1 dư 1
- 0

2 7
- 2 7

0 4
- 3

1

6) 1 4 4 : 2 = 0 7 2
- 0

1 4
- 1 4

0 4
- 4

0

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 7 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 72

2. 119

3. 106

4. 34 dư8

5. 88 dư5

6. 60 dư7

Giải các câu hỏi.

1) 5 0 4 : 7 = 0 7 2
- 0

5 0
- 4 9

1 4
- 1 4

0

2) 5 9 5 : 5 = 1 1 9
- 5

0 9
- 5

4 5
- 4 5

0

3) 4 2 4 : 4 = 1 0 6
- 4

0 2
- 0

2 4
- 2 4

0

4) 3 1 4 : 9 = 0 3 4 dư 8
- 0

3 1
- 2 7

4 4
- 3 6

8

5) 6 2 1 : 7 = 0 8 8 dư 5
- 0

6 2
- 5 6

6 1
- 5 6

5

6) 4 8 7 : 8 = 0 6 0 dư 7
- 0

4 8
- 4 8

0 7
- 0

7



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 7

Câu  trả  lờ i

1. 72

2. 119

3. 106

4. 34 dư8

5. 88 dư5

6. 60 dư7

Giải các câu hỏi.

1) 5 0 4 : 7 = 0 7 2
- 0

5 0
- 4 9

1 4
- 1 4

0

2) 5 9 5 : 5 = 1 1 9
- 5

0 9
- 5

4 5
- 4 5

0

3) 4 2 4 : 4 = 1 0 6
- 4

0 2
- 0

2 4
- 2 4

0

4) 3 1 4 : 9 = 0 3 4 dư 8
- 0

3 1
- 2 7

4 4
- 3 6

8

5) 6 2 1 : 7 = 0 8 8 dư 5
- 0

6 2
- 5 6

6 1
- 5 6

5

6) 4 8 7 : 8 = 0 6 0 dư 7
- 0

4 8
- 4 8

0 7
- 0

7

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 8 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 81

2. 199

3. 239

4. 65 dư3

5. 23 dư4

6. 50 dư1

Giải các câu hỏi.

1) 4 8 6 : 6 = 0 8 1
- 0

4 8
- 4 8

0 6
- 6

0

2) 3 9 8 : 2 = 1 9 9
- 2

1 9
- 1 8

1 8
- 1 8

0

3) 4 7 8 : 2 = 2 3 9
- 4

0 7
- 6

1 8
- 1 8

0

4) 3 2 8 : 5 = 0 6 5 dư 3
- 0

3 2
- 3 0

2 8
- 2 5

3

5) 1 4 2 : 6 = 0 2 3 dư 4
- 0

1 4
- 1 2

2 2
- 1 8

4

6) 1 5 1 : 3 = 0 5 0 dư 1
- 0

1 5
- 1 5

0 1
- 0

1



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 8

Câu  trả  lờ i

1. 81

2. 199

3. 239

4. 65 dư3

5. 23 dư4

6. 50 dư1

Giải các câu hỏi.

1) 4 8 6 : 6 = 0 8 1
- 0

4 8
- 4 8

0 6
- 6

0

2) 3 9 8 : 2 = 1 9 9
- 2

1 9
- 1 8

1 8
- 1 8

0

3) 4 7 8 : 2 = 2 3 9
- 4

0 7
- 6

1 8
- 1 8

0

4) 3 2 8 : 5 = 0 6 5 dư 3
- 0

3 2
- 3 0

2 8
- 2 5

3

5) 1 4 2 : 6 = 0 2 3 dư 4
- 0

1 4
- 1 2

2 2
- 1 8

4

6) 1 5 1 : 3 = 0 5 0 dư 1
- 0

1 5
- 1 5

0 1
- 0

1

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 9 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 35

2. 35

3. 460 dư1

4. 46

5. 476 dư1

6. 14 dư2

Giải các câu hỏi.

1) 2 4 5 : 7 = 0 3 5
- 0

2 4
- 2 1

3 5
- 3 5

0

2) 1 7 5 : 5 = 0 3 5
- 0

1 7
- 1 5

2 5
- 2 5

0

3) 9 2 1 : 2 = 4 6 0 dư 1
- 8

1 2
- 1 2

0 1
- 0

1

4) 3 6 8 : 8 = 0 4 6
- 0

3 6
- 3 2

4 8
- 4 8

0

5) 9 5 3 : 2 = 4 7 6 dư 1
- 8

1 5
- 1 4

1 3
- 1 2

1

6) 1 0 0 : 7 = 0 1 4 dư 2
- 0

1 0
- 7

3 0
- 2 8

2



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 9

Câu  trả  lờ i

1. 35

2. 35

3. 460 dư1

4. 46

5. 476 dư1

6. 14 dư2

Giải các câu hỏi.

1) 2 4 5 : 7 = 0 3 5
- 0

2 4
- 2 1

3 5
- 3 5

0

2) 1 7 5 : 5 = 0 3 5
- 0

1 7
- 1 5

2 5
- 2 5

0

3) 9 2 1 : 2 = 4 6 0 dư 1
- 8

1 2
- 1 2

0 1
- 0

1

4) 3 6 8 : 8 = 0 4 6
- 0

3 6
- 3 2

4 8
- 4 8

0

5) 9 5 3 : 2 = 4 7 6 dư 1
- 8

1 5
- 1 4

1 3
- 1 2

1

6) 1 0 0 : 7 = 0 1 4 dư 2
- 0

1 0
- 7

3 0
- 2 8

2

1-6 83 67 50 33 17 0



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 10 1-6 83 67 50 33 17 0

Câu  trả  lờ i

1. 21

2. 27 dư5

3. 80 dư3

4. 103

5. 113

6. 482 dư1

Giải các câu hỏi.

1) 1 8 9 : 9 = 0 2 1
- 0

1 8
- 1 8

0 9
- 9

0

2) 2 2 1 : 8 = 0 2 7 dư 5
- 0

2 2
- 1 6

6 1
- 5 6

5

3) 3 2 3 : 4 = 0 8 0 dư 3
- 0

3 2
- 3 2

0 3
- 0

3

4) 7 2 1 : 7 = 1 0 3
- 7

0 2
- 0

2 1
- 2 1

0

5) 9 0 4 : 8 = 1 1 3
- 8

1 0
- 8

2 4
- 2 4

0

6) 9 6 5 : 2 = 4 8 2 dư 1
- 8

1 6
- 1 6

0 5
- 4

1



Họ và Tên: Lời giảiDivision (Quốc tế) với Lưới trợ giúp

Toán Học vn.CommonCoreSheets.com 10

Câu  trả  lờ i

1. 21

2. 27 dư5

3. 80 dư3

4. 103

5. 113

6. 482 dư1

Giải các câu hỏi.

1) 1 8 9 : 9 = 0 2 1
- 0

1 8
- 1 8

0 9
- 9

0

2) 2 2 1 : 8 = 0 2 7 dư 5
- 0

2 2
- 1 6

6 1
- 5 6

5

3) 3 2 3 : 4 = 0 8 0 dư 3
- 0

3 2
- 3 2

0 3
- 0

3

4) 7 2 1 : 7 = 1 0 3
- 7

0 2
- 0

2 1
- 2 1

0

5) 9 0 4 : 8 = 1 1 3
- 8

1 0
- 8

2 4
- 2 4

0

6) 9 6 5 : 2 = 4 8 2 dư 1
- 8

1 6
- 1 6

0 5
- 4

1

1-6 83 67 50 33 17 0
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